uﬁ ‘Illlt\ G RAINWATER
h QQ

m\mwmw =

g( - \m®m |
“ ' \ — .,A. :. \

TR f‘i ee
i1 me

A
pana e
\ ..A)\.-.I ..-’4-.....
| BEl~ |BREmelA BB .-\1

—

J\- |

0

| ’ , i
inw an - attay hugate of sz
W' whida (epreents hoiont of
bm\&mgs wadh oF Width 1,

OMmpuke ~ lnow Mudh woler will be
’m?\md i boween Anece

\o\u\dmas




AAALI IR R AYRIRL A AR )

INTUITION-
1 Find a woy to know how much waler
15 olleded o0 ‘wf of each bulldinﬂ
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Solutio
tr ap(self he1ght Llst[mt]) -> int:

lenCheight) = {'ﬁ“(’,&'\ \)U\\& “%
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= lenCheight
?eft EHEQEIQ 3 range(Cn)] _\m \Q/Q‘\'

right = [0 1 range(n)]

left[@] = height[0] \7_\'&\ G/Q‘ \)\A\\d’\ng
(k\ﬁnowr\‘t%ht[ 1] = height[-1] _\,0 ‘\(\\@/ Y\%N

range(l, n):
Ptog left[1] = max(left[1 - 1], height[1]) (@__
1 ra nge{n -2, -1, -1): P

TNV S gheTi] = moxCraghtli & i1, heightlilD \)(00%{3\{9
-\WB totalWater = 0

1 range(l, n - 1):
waterAbove = min(right[1 + 1], left[i1 - 1]) - height[1]
waterAbove > 0:

totalWater +=‘wuter‘Above q ﬂ(&(&‘(@ﬁ(ﬂ'@
totalWater w 0\ {
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